RBW 3 MHz
* VBW 3 MHz

SWT 100 ms

*Att 0dB

Ref 96 dBpVv

90

80

20
10

10 ms/

Center 49.86 MHz

Delta 2 [T1]

RBW 3 MHz
* VBW 3 MHz

0.01 dB
18.450000 ms

SWT 25 ms

*Att 0dB

Ref 96 dBpVv

3DB

3 [
=
2 - 7
Dwm |
”Aum &
Ez28 —
11‘0
M < [Lnl
g =
) =
— <
L —=
3
— _3
j—
_—
B
=
il
- 3
— =
3 >3 8 s

2.5 ms/

Center 49.86 MHz



RBW 3 MHz Delta 2 [T1]
* VBW 3 MHz 0.48 dB
Ref 96 dBuV <At 0dB SWT 25 ms 1.500000 ms
Narker 1) [T1]
=) 7587 Bt
4.000000 ms
SGL
S - |-s0 -
aln ﬂ —
1, N
60
+%0
40| 3DB
GUUU W UYL YUY
30
+20
+10
+0
Center 49.86 MHz 2.5 ms/
RBW 3 MHz Delta 2 [T1 ]
* VBW 3 MHz 0.05 dB
Ref 96 dBpV “Att 0 dB SWT 25 ms 550.000000 ps
Marker 1 [T1]
L 90 2620 dp
13.200000 m
SGL
BEE - [-s0 T
i 17 nh 1] ] ]
] 0
—60
| 40
—40| 3DB
J L i/ Wl It ]
~20
~10
-0

Center 49.86 MHz

2.5 ms/



